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Formula Sheet: Foundation Tier

You may need to use the following formula:

Area of trapezium = %(a+b)h h
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Answer all questions in the spaces provided.

1 Here is a bus route and a fares table.

Rotherham Hospital Whiston Bramley Maltby
O— O O O O
&
N
kL >
S
75p Q»O%Q
&
£1.15 | 54p é&
\eﬁ
£1.42 | £1.08 | 60p @*‘Z’&
S
£1.78| £1.35| 96p | 47p @&

(a) How much is the bus fare from the Hospital to Maltby?

Answer et (I mark)

(b) Jon travels to Rotherham from Bramley.
He pays with a £5 note.

How much change does he receive?

(c) A child pays 35p for any journey.
What is the total cost for an adult and two children to travel from Bramley to Maltby?

Answer SRS (2 marks)

Turn over p

APW/6Q03/33005/F1



LEAVE

4 MARGIN
BLANK
2 Patterns are made of sticks.
Pattern 1 Pattern 2 Pattern 3 Pattern 4
(a) Complete the table for Pattern 4.
Pattern 1 > 3 4
number
Number of
sticks ) 7 ?
(I mark)
(b) Sketch Pattern 5.
(1 mark)
(c) Which pattern will have 25 sticks?
ATDISWET ettt testeste st sae e ssesaeennens (2 marks)
(d) Here is the rule for working out the number of sticks.
Multiply pattern number by 2 and add 3
How many sticks will be in Pattern 100?
ADSWET ittt et ae e et e s esaaeeseenaees (I mark)
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3 A rectangular box has length 4cm, width 3cm and height 2cm.
The box is to be filled with centimetre cubes.

lem
2cm
lcm
3cm lcm
4cm
(a) How many centimetre cubes are needed to fill the box?
ADNSWET ittt cubes

TURN OVER FOR THE NEXT QUESTION
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Not to scale

(2 marks)

(I mark)

Turn over p
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4 The points P, Q and R are plotted on the grid to form a triangle.

~—
3 R —
/>

2
1 P e —
0 >
0 1 2 3 4 5 6 7 8 9
(a) What is the mathematical name given to triangle POR?
ADSWET ..ttt et s (I mark)
(b) (i) Mark the mid-point of PQ on the grid.
Label it M. (1 mark)
(i) Write down the coordinates of M.
ANSWET (coveveeeeieenienennen s eeeeeeeneeeeeea ) (1 mark)
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5 A speed limit in France is 100 kilometres per hour.
The speedometer shows the speed of a lorry.

100

(b) (i) Use the graph to convert 32 kilometres per hour into miles per hour.

A
20 o
//,
miles 16 e
per e
hour 12 A
8 ; ”
4 'd
0+= >
0 4 § 12 16 20 24 28 32
kilometres per hour
ANSWET oottt miles per hour (I mark)
(i) Convert 96 kilometres per hour into miles per hour.
ADSWET .ottt miles per hour (2 marks)

Turn over p
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6 (a) Here are six rectangles on a centimetre grid.

(i) Which two rectangles are congruent?
ADNSWET ..o and ...

(i) Which two rectangles are similar?

(b) Triangle H is an enlargement of triangle G.

State the scale factor of the enlargement.
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7 (a) Hereis a list of angles.
8° 42° 90° 97° 132° 205° 281° 333°
From the list, write down an angle which is
(i) obtuse,
ADNSWET oottt ens degrees (I mark)
(i) reflex.
PAN § ) USSR degrees (I mark)

(b) The diagram shows a hexagon.
The hexagon has two lines of symmetry as shown.

Not drawn
accurately
(i) Work out the value of x.
ADNSWET oottt ve e se e ae e eeeens degrees (I mark)
(ii)) Work out the value of y
ADNSWET oottt ae e eaeens degrees (2 marks)

Turn over p
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10

8 A printing machine prints 8 pages per minute.

(a) How long will it take to print 1000 pages?
Give your answer in hours and minutes.

(b) A new machine prints 25% more pages per minute.

How many pages will the new machine print in 1 hour?

(3 marks)

(3 marks)
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10 (a) Find the value of 3x +4y
(i) whenx=2andy=>5

ADNSWET .evievieiieeiieeie ettt e ete e aeesseesaeeeaeeseeseenaeas (2 marks)

ADNSWET .evieiieiieciieete et e stesteeaeesaeesaeesaeeeaeeseeseenaeas (2 marks)

TURN OVER FOR THE NEXT QUESTION

Turn over p
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11 The length of a rectangle is twice its width.

2x

A
Y

Not to scale

- < —

The area of the rectangle is 50cm?.

(a) Show that the length of the rectangle is 10cm.
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12 The diagram shows the positions of A and B.
The diagram is drawn to scale.
1cm represents 10 km.

Scale

@ lcm represents 10km

(a) Use the diagram to calculate the actual distance of B from A.

J AN 1 ) TS S km (2 marks)

(b) Cis due south of B.
(i) Write down the three figure bearing of C from B.
ADNSWET ittt ettt eteesae e e s eesaeenes (I mark)

(i) Cis also on a bearing of 150° from A.

Mark the position of C on the diagram. (2 marks)

Turn over p
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13 (a) Paul thinks that when an even number is halved the answer is always even.

Give an example to show that Paul is wrong.

(b) pisan odd number.

Is 2p +1 an odd number, an even number or could it be either?
Tick the correct box.

odd even either

14 In a test Adam scored 10 more marks than Rachael.
Altogether they scored 62 marks.

Find Adam’s score.
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(I mark)

(3 marks)
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15 The diagram shows two identical shapes A and B.

A

(3 marks)

Turn over p
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16 The diagram represents a solid made from 9 small cubes.

A/ \B

The view of the solid from direction A is shown below.

On the grid below, draw the view of the solid from direction B.

(2 marks)

END OF QUESTIONS
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